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Name: ______________________________

Subject & Period: _____________________

Date Due: ___________________________
Lab – Beanium

CSCOPE Unit 03 Lesson 01 Day 5

· Isotopes are atoms that have the same number of protons but a different number of neutrons.

· Because isotopes have the same number of protons and electrons (the particles responsible for chemical behavior) isotopes are chemically the same.

· Because isotopes have different numbers of neutrons they have different mass numbers.

· The atomic mass for an element on the periodic table is a weighted average of all of the isotopes of that element.

· The weighted average takes into account the relative amounts and NOT just the actual mass of each isotope.

	
	

	01. Nine (9) students scored a “100” on a test and one (1) scored a “20.” One student claimed that the test was unfair because the class average was “60.” Explain why the class average of “60” was not correct:
	

	
	

	02. If 95% of students score a “100” on a test and 5% score a “50,” then what is the class average? (Hint: Don’t forget to convert the percent to a decimal before you work the problem.)
	


You are going into the lab area to determine the average atomic mass for an imaginary element “beanium.”

For the purposes of this lab consider each TYPE OF BEAN to be an isotope of this imaginary element “beanium” and consider EACH BEAN to be an “atom” of “beanium.”

White lima beans are the isotope “beanium – wht.”  Pinto beans are the isotope “beanium – brn.”  Red beans are the isotope “beanium – red.”

1.  Obtain a sample of “beanium.”

2.  Separate the sample into the 3 isotopes.

3.  Count the number of atoms of each isotope. Record the data.

4.  Find the mass of each isotope sample. Use a weighing boat. Never place the substance 

     to be massed directly on the pan of the balance. Record the data.

5.  Calculate the average mass of an atom of each isotope by dividing the total mass of each 

     isotope by the number of atoms of that isotope. You must show your work in the space 

     provided. Record the data.

6.  Calculate the relative abundance of each isotope by dividing the number of atoms in the 

     isotope sample by the total number atoms in the entire element sample. You must show 

     your work in the space provided. Record the data.

7.  Calculate the sum of all of the relative abundances.  You must show your work in the 

     space provided. Record the data.

8.  Calculate the relative mass of each of the isotopes by multiplying its relative abundance 

     by its average mass. You must show your work in the space provided. Record the data.

9.  Add the relative masses of each of the three isotopes. This is the average atomic mass of 

     an atom of the element “beanium.”

Show your work for calculating the average mass of an atom of each isotope here:

Show your work for calculating the relative abundance of each isotope here:

Show your work for calculating the sum of all of the relative abundances here:

Show your work for calculating the average atomic mass of an atom of the element “beanium” here:

What is the average atomic mass of an atom of the element “beanium”?
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